Fobe gelct. [ |

[

}.

I‘U

AACHOA /ACH = 90° —

tan 60° = ——
an h

ABCHO| A /BCH = 90° —

tan45° =

h

30° = 60°
CAH=[ ]

45° = 45°
“BH=[ |

=

=%

= °
=%

=
c

& e °
-

rlo



)

2 A ZM7S ABC oA A =34° 4
o, 0] BC € #otH? (T, sin34° =
0.5592, cos 34° = 0.8290 )

@ 20.141cm @ 21.523cm

® 22.368 cm @ 23.694 cm

® 24.194 cm




o2 199 gABCD °f| A /BAC

/ADC =90°°]1, BC = 12¢cm ¥
o] 7ol
® 2V6cm @ 3+V6cm
® 4+vV6cm @ 5+v6cm
® 6vV6cm

, CD

Dy

60°

B=~-19em---

-C



oo the Iy 2L 4747
ABC °f tigt Aot} &2 A2 HF
B 917}
. b
Q) sinB = — O c=— © tanB = —
ba sin B
a
B=-
® a tan B @ cos b




cm?



6. T AABCOlA x 9] dol|g stoigf,
(1) AABC2] Ho] : 40v2

B-8-C
(2) AABC O] Ho] : 30V2




ohe 47199 Yolg Faha? A
@ 7v2cm? @ 7vV3cm? 2cem\_ 135°
® 8v2cm? @ 8+3cm? B ~-16cm--""

® 942 cm?



8.  Th& aABCeOlA x o] 27]& 5ol

(1) AABC2] Ho] : 403

~

B ---20---"C
(2) AABC 2] Hol @ 53
A




